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1
i = X 1 t h2 = - =
cosh(x)+sinh(x)=e +tanh® (x) —r cosh(—x) =cosh(x)
1
2(x)-sinh?(x)=1 | coth?(x)-1=—=— inh (=x) = —si
cosh®(x)-sinh®(x) =1 (x) Sinh? (x) sinh (—x) =-sinh(x)
DY0IMMNIN W91 D120
sinh (x £ y) =sinh(x)cosh(y)+cosh(x)sinh(y)
cosh(x = y) = cosh(x)cosh(y)+sinh(x)sinh(y)
995 VINPNIN Y NI
sinh (2x) = 2sinh (x)cosh(x)
cosh(2x) = cosh? (x)+sinh?(x) = 2sinh?(x)+1=2cosh*(x)-1
mMYNVY

.sinh(2x) = 2sinh(x)cosh (x) MM NX NN (1

,sinh(gj: cosh(x)-1 sinh(x)

= 191951 MM IN NN (2
2 2(cosh(x)+1)

x>0 o

.cosh*(x)—sinh*(x) =cosh(2x) MmN NX NN (3

.cosh(x+y)=cosh(x)cosh(y)=sinh(x)sinh(y) nMnin N NN (4
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coth(x) =

e —e€
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.x=1 M2y ,sinh(x) MY2997N DPYPNON HY NI NN VN (1

sinh(x,)=-1> M (2

.coth(x,)-1 tanh(x,) ,cosh(X,) NPYPNAN HW 177y NN 1WN

.sinh(In5) yawn (3

.tanh(-3In2) yvawvn (4
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cosh(%,) =2, tanh(xo)z—g , coth(x)=—2 (2
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(sinh(x))" = cosh () (tenh (x)) = 005h12 ()
(cosh (x))'=sinh () (=0 00) =

MHNY

. f(x)=cosh(Inx) Mspnon NI (1
. f(x)=sinh(tanh(x)) MY¥PNON NN (2
. f(x)=cosh(In(sin x)) M¥PNON NN (3

- f(x)=sinh?(x*) 3PN NN I (4

PID MAIVN

F(x) = sinhiln X) a
_ cosh(tanh(x))

()= cosh?(x)
f'(x):sinh(ln(sin(x)))~cot(x) (3
f'(x)=3x"sinh(2x°) (4
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_ 1 1+X
sinh’l(x):ln(x+\/x2+1) tanh l(x)=§|n(ﬁj
cosh ™ (x) = In(“ X' _1) coth*(x) =1|n(x_+1j
2 x—-1
099) 9YINN
4 cosh™"(x) Y im0

o

T
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coth~'(x) tanh="(x)
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.sinh™(x) =arcsinh (x) SwNY ,arc DY NN MPYPNY HY NID D) OMP
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x| >1 995 ,sinh(arccosh(x))=+/x> =1 N0 (1
X J
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x[<199 ,cosh(arctanh(x)) _
1— x?
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1 Lo 1
(smh (x)) N (tanh l(x)) =7 x| <1
(cosh‘l(x))'z L , X>1 (coth‘l(x))'z ! |x|>1
x? -1 1-x*
MHNY
. f(x)=In(arcsinh(x)) M¥PNON NN I (1
. f(x):In(cosh(arctanh(x))) PN NN (2
. f(x):arcsinh(arccosh(tan(x))) TPNPNON NI (3
S0 MIVH
f'(x)= L (1
1+ X2 -In(x+\/x2 +1)
X
f = 2
f'(x)= ! =" 1 - 12 (3
\/1+(cosh’1(tan X)) Vtan? x—1 €0S° X
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